Ecin ypaBHeHue umeeT OoJiee OJHOTO KOpHS, B OTBET 3alHUIIHTE OOJIBLINHA

U3 KOPHEH.

Otser: 7

9 Pemmnre ypaBHeHHue x2-49=0.

oowunn Bma
ax"2+bx+c=0
D=b?2-4ac
x1=(-b+VD)/(2a)
x2=(-b-VD)/(2a)

npumep
5xN2+2x-7=0
D=2/2-4*5%(-7)=4+140=144
VD=12

x1=(-2+12)/(2*5)=1
x2=(-2-12)/(2*5)=-14/10=-1,4
OTBeT:1,-1.4

YacTHbIV BUA,
ax2+c=0

npumep
5x"2-7=0
oy-7=0
oy=7
y=7/5
x"2=715
x=+-V7/5
x=+-V1.4

OtBet V7/5;-V7/5

xN2=49
y=49
x=+-V49
X=+-7

YacTHbIV BUA,
ax2+bx=0

npumep
5xM2+2x=0
X(5x+2)=0

x=0 nnn 5x+2=0
5x=-2

X=-%

x=-0.4

OTtBeTt 0;-2/5

YacTHbIV BUA,
ax"2=0

npumep
5x7"2=0
x=0



